EAGRAROBREERT — 2 N— ABISH —F

2020688300 (H) 2mE/\&6H

m/J\%‘EﬁO P #—-7> 4#7R3mL (EE) (8%E) AE ‘ (X] ‘ (Sampl — |2 (£) 18000 &
[A&E4£] 1 7 24,000,000  ~ 2 3% :9,600,000 9 33 :6,000,000 4 3% :3,600,000™ . 5 3&:2,400,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S 4 5 | dtRER— 1:46.1 11-10-11-9 | 34.0 | 107.7 | 3 456 | AT (RR)
117]10| ¥7%7 54.0 5 o | FERHL
R:F4—TA4>nN7 b B0+ J—HrTr—LA
S _ - o4 | BEHEI—ER 1:46.3 4-6-7-7 | 34.7[105.6 | 4 458 | MIIFEH (RR)
2|5l |FvT)—= 56.0 A 1/2) (4) | EFEAF—LF 12T R ()
X THANAN Ry TaA-2T 4 X J—HTr—LA
P st o4 | JIIERHHE 1:46.4 2-2-2-1 | 35.2|104.6 | 2 492 | IS (BR)
3 2| B/ F MY — 57.0 (3/4) o | ® F/v92
RFA—TANT b BiHIs— =¥ Tr—L
s s 4 | EPR 1:46.5 11-12-12-12| 34.3 [ 103.5| 6 464 | BEET (ER)
sy 777770 54.0 (76) 1) | BEEHS LT
L:A—KpFa7 B:TFI/T—IL J—HTp— L
T A HALLEAT .46, —9—0— . . MAIE (FEXR)
5lgl12| 717717 —% # 5 o 1(;6@5 9-9-9-9 |34.7|103.5| 5 (5_268) i
RiFATATv— BFIFHETY HE77— L
> = . 7 4 o4 | EDEMRE 1:46.6 8-8-7-7 | 35.0 | 102.5| 12 | 472 |HEHEEZ (FX)
68|11 ¥ TRIVTTVT 56.0 (1/2) o | B ¥5TLuEs5T 5747
LG4 7—IVEY B4 xIL—F EvJiLy RT77—L4L
S 4 6 | MIHEZ 1:46.6 4-5-4-3 | 35.2|102.5| 7 M | BEFE (ER)
715|5|T7AVAXA YT 56.0 ) (-g) | BHER
R:wNyBhT1 BENHZXFA b "HET7—L
Iz S, > 6 | AEEN 1:46.9 10-10-9-9 | 35.0 | 99.3 | 9 496 | KFEMER (FH)
8 3|IRXATALTa> “ 0l %o (1 3/4) o | M /=2ELX
R:I2Fv AL B:RY4TRAETTS51 b #REH /—ZELX
3 S e > 4 | BERE 1:47.2 4-3-4-3 |35.8| 96.6 | 8 472 | EBMFE (EH)
oWl 4| IYENR—TUH “ % 560 (1 3/8) g | HEER
LW—5—YvT BTRFAY KIFEAS
— = WERE 147 -3-3- . . #ILEA (FEX)
10 glog=s752 50 #H 5 = 1(427)5 2-3-3-3 [36.2| 93.8 | 10 (5_2;4) il
A:Frankel B:7HvHh Yuzo Tanimizu
S i o4 | FRE 1:48.1 4-6-4-3 | 36.7 | 88.4 | 1 502 | EEREME— ()
1117] 9 tZE7 54.0 (31/2) (+8) EHEB%
LiFNT =TI B:5IT HET77—L4
= .2 o9 | KEE 1:48.2 1-1-1-2 | 37.1| 87.8 | 11 500 | MIZES (RR)
121111 ATA4142>2T7 ML 58.0 (3/4) (+8) HewmE (%)
LIZFAT—IE B:IT ALYy b J—H T p—Lh
@ 71 L
) 46.8-35.0
NA>Z24 L | 12.5-11.3-12.0-11.8-11.7-11.8-11.7-11.8-11.5
@ I —F—@EBIERL
13=7F= 1(2,8) (4,5,6,9)11-12,3(7,10)
2= = 1,2(4,8)5(6,9)11-12(3,10)7
Fol=5r= (x1,2)8(4,5,9) (11,6) (3,12)10,7
43—F— (1,%2) (4,5,8,9) (11,6) (3,12,10)7
[ N3
B O 10 580M 714K 6-10 480M e E 5-7 650M JEHE 2-6-10 1,710
8 B 10 180F4 2-10 380M B = 6-10 1,640/ @ 10-6-2 13,830M
6 190M 2-6 430 B H 10-6 3,550
2 150/

ABRICOVTHRTEEERROODE, THEB LS,




